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(iii) EUE & — T G&IT 1 8 20 TGaecd1d TR & ¥ 8 | T4F To7 1 SFH H 3 |

(lv) TS — J¥7 G&IT 21 G 24 37fd TY-3709 TR & T 8 | Ik T 2 37 1 8 | T
Y1 T I 40 IsaT G 3718k T8 for@r sir7 Iifau |

(v) VST T GEIT 25 € 29 TY-IHI TFR & T & | ToAT T 3 371 1 & | 57 To1 &1
I 60 I75e] § eIk a1 forar Si=7 =7fay |

(vi) TUSH — Y97 G&IT 30 G 33 T1-3509 TR & T97 & | Icdeh I3 5 bl T 8 | 37 Y91 T
ST 120 v7se] § e 7 for@n sam =i |

(vii) TWUE T — Y97 G&IT 34 T 36 F/FIF-3TNd I97 3, S8 o 39-997 & | Id% 9
4 FHHR

(viii) U & — Y97 G&IT 37 HHIH HIVA-RT I97 8, fS/a¥ & 977 & — 87 () 3fdsrg
(2 ¥%) 3R 37 (@) TN (3 3HF) | 39 T % FA 5 HAF 6 |

(ix) 3G% 3R, &IH 3 o givaTera wienfear & forg o a9r gAfad 37fs smenia J91 &
TYTH TR Qe 377 I 157 7747 8 | 379 991 & SR hayeT givantera gdeneff & ford |

QUE &
[CHEETRIRR L) (20x1=20)

1. @O T B fora 2 | S wume shi ©dl T Smedt § | R geer R imferes
TR 6o T 37T TaTll ? ot U forhedt shT < ShiloTg | 1
(A) ez war, Heaw o, e o i Raeft gu
(B) it aT, Boeh! aul, I=a AmoHM IR faeht gu
(C)  TIATE HaT, Bosh! AW, 3o ATIH SR HEH 0
(D) it &T, ATk aul, e Qo ST wear o
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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 37 questions. All questions are compulsory.
(it)  Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iit) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each

question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viit) Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. Swapna is a small farmer. Swapna wants to cultivate cotton. What kind

of geographical conditions will be suitable for this ? Choose the most

appropriate option. 1

(A) Laterite soil, Moderate rainfall, Low temperature and Bright
sunshine

(B)  Black soil, Light rainfall, High temperature and Bright sunshine

(C) Laterite soil, Light rainfall, High temperature and Moderate
sunshine

(D)  Black soil, High rainfall, Low temperature and Moderate sunshine
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2. WER LS g GHE FY Y ATerd TSl o Fal forshed shT =1 shifsg |
(A)  TSTEIH, TSAT, gl T BRITOmT

(B) HEWIS, el ax, TSI QT USTE
(C) TR, AL TQRT, Ao T g Ja=T
(D)  HeT YT, TS, ik qT SIS
3. T IH W I1 ¥ e HifST 3T @& forehed i =@ Hiie :

r=cki oy I1
() (aTTE7)

a. I i.  GdT

b. T ii. WTEST AT

c. =HE iii. T IR
d. gdast iv. fe=t

(A)  a-ii, b-iii, ¢, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iii, b-iv, e, d-ii
(D)  a-iii, b-iv, c-ii, d-i
4. TAfafad wwd a=sie @) sttt H famware & & sq- o 2 2 =@
S Torehed T </ shiTSTT |
feroryamd
I T-S{1aT o AT o AT ITaem T |
II.  Tfea it st geft SehTierd & |
[II. TeheUEd STt & e o foTe ¥R 9T fdsier & |
IV. o9 U g S8 wewyul fawet st ger gt # wmfier & |
forerea
(A)  FHad L, II I & & |
(B) &AL II 3RIV T T |
(C) 3t I, III 3T IV TEt & |
(D) waet I, III 3R IV Tt § |
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2. Choose the correct option of the states that have been majorly benefitted
by the Sardar Sarovar Dam. 1

(A) Rajasthan, Gujarat, Punjab and Haryana

(B) Maharashtra, Madhya Pradesh, Gujarat and Rajasthan

(C) Maharashtra, Madhya Pradesh, Telangana and Andhra Pradesh
(D) Madhya Pradesh, Rajasthan, Karnataka and Chhattisgarh

3. Match Column I with Column II and choose the correct option : 1
Column I Column II
(River) (Dam)
a. Chambal i.  Salal
b. Ganga ii. Bhakra Nangal
c. Chenab iii. Gandhi Sagar
d. Satluyj iv. Tehri

Options :

(A)  a-ii, b-iii, c-i, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iii, b-iv, c-i, d-ii

(D) adiii, b-iv, c-ii, d-i

4, Which of the following characteristics of the Indian Wild Life (Protection)
Act are correct ? Choose the most appropriate option. 1
Characteristics :

I To make provisions for habitat for wild animals.

II. To publish list of protected species.

III.  To ban hunting to save endangered species.

IV. To include important subjects like forests and wildlife in the Union
List.

Options:

(A)  Only I, IT and III are correct.

(B)  Only I, IT and IV are correct.

(C)  Only II, IIT and IV are correct.

(D)  Only I, IIT and IV are correct.
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5.  TrAfcTRad o & wet gufcrd I o =g hifsry ;
T SE/aTe s 7T
(A)  iec T ITH I SN
(B) WYIREULT A — (SN
(C) U s fsid —  dfeg
(D) #WE s e — oW
6. T H Forstt” s Fferfad foriwratt st eargdes ufeu 37wl fasey 1 =
FHifs -
Terorard :

I. o€ g o we gu HieT qfsd gl § 60 |
II. SO SHT3 9 ol J&d A=l 1 a0 ¢ |
III. 391 GO TS WiW ol T9He ATgsid o Iuehod 2 |
IV. 382001 ¥ IFh! HART 3T T ace Aoeet 7 3fora fopar mm )|
%wcr:
(A)  FHaer I, 11 30T 111 9=t & |
(B)  ahaet II, 111 3T IV & & |
(C) et I, III SR IV && & |
(D) AL, II IV &t & |
7. GicTed adt ok e & Sk St sftmiet frefefaa & & foraes grr stafieR ugt 2
A) e afdw (B)  WhiE ATy
(C) YTt AT (D) 3T ek

8.  FAfcIRad ereratl bt shTeTshT | saafeerd hifSTT S wet forshed st <o shifely :

I e it dei ¥ Ifae $it g1
II. I Eacerdn o forg dod iy

III. Yoo §oF STcToligT shi TATOHT

IV. o 9ty ox gwarem

e :

(A) 1,11, III, IV B) LI, IV, III

C©) I LI IV (D) II, L1V, III
9. A FHA K Hoer Afetilad § & forer ar @ 2

A)  Iie (B) IRl

(C) Thicie (D) oIS

I 32/2/2 Page 6 of 27



B !
5. Choose the correctly matched pair from the following : 1
National Park/Tiger Reserve State
(A)  Corbett National Park —  Himachal Pradesh
(B) Bandhavgarh National Park -  Rajasthan
(C)  Periyar Tiger Reserve — Tamil Nadu
(D) Manas Tiger Reserve —  Assam
6. Read the following characteristics of ‘Jikji’ of Korea carefully and choose
the correct option : 1

Characteristics :

I. It is one of the oldest existing printed books in the world.

II It contains the main beliefs of Christianity.

III  Its second volume is available in the National Library of France.

IV. It was inscribed on the UNESCO Memory of the World Register in
2001.

Options:

(A)  Only I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only I, III and IV are correct.

(D) Only I, II and IV are correct.

7. In the mid-16th century, diseases like smallpox reached America through
which of the following ? 1
(A)  Spanish soldiers (B)  French merchants
(C)  Portuguese sailors (D)  British tourists

8. Arrange the following events in chronological order and choose the
correct option : 1

L Defeat of Napoleon in the battle of Leipzig

II. Beginning of struggle for Greek independence
III.  Formation of customs union Zollverein

IV. Signing of Treaty of Vienna

Options:
A LILIIIV (B) LILIV,III
(C) ILLIIV (D) IL L IV,III
9. ‘Potato famine’ was related to which of the following countries ? 1
(A) England (B) Ireland
(C) Finland (D) Scotland
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10. e & e I ud 11 few Q& | ST ol skt Sagae ufet ST wet foehed 1 =R
Hifere -
FIT[: GO US HR S ieht F Seeiehtor i Sfshar shi Scifid forar |
YT 11 :  HhT ST Ueh-TUL H Heh shid, FET3TT i deshed Ted shid AT grerdi
& | TG i H AT ST 2 |
e :
(A) U [ R I SHT &al & SR H 11, 9 [ Al 9t AT € |
(B) % I 3R II GHT 6T &, T o 11, o [ o1 9el e 787 ¢ |
(C) o 19l ®, Wrg o 11 1Tl € |
(D) o 171eTd &, 90 e 1T Hel € |

11, 9Rd H JrHor giEm & fTg ot sht strearendt qfd o foTe or & fefafad idi st
HTereh & HH o ShH H AU TS I FET forehed 1 =1 hifery 1
I  E&R II. "R o P amfaat
III.  &TEhR Iv. e fim
e
A ILIL LIV (B) L IILIV,I
(C) LIULILIV (D) LIILIV,II

12. TG AW & &1 AT Td fFaT ® | T & 9aT IAT foh AT SAAT-3TAT 1o hloh
AT SArSfiferert a2 | 38k fofu Tt A S drfetent 918 IEent = foam mr R
TTCTohT ST EATHEIoh STEA ShITSTY, TR 3k A1 T 7T T o7 I ST -

%.4. e AT F G
I @d § R L Ao Fh 250
forener™ ® ug aret freres 10
3T B H HTH HTH AT A 70
TS HREHT H 1 I ATHER 140
&7 o Ueh ST H h1d ohid aTed hH=IR] 60
EYgl 530

A

ST &5k | fohd < it @ 2 1
(A) 380 (B) 140 (C) 320 (D) 210

1

A e
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10. Two statements I and II are given below. Read both the statements
carefully and choose the correct option : 1
Statement I:  Information and communication technology stimulate

the process of globalisation.

Statement I : It is used to contact each other, receive information
instantly and communicate with remote areas.

Options:

(A) Both statements I and II are correct and statement II is the correct
explanation of statement I.

(B) Both statements I and II are correct, but statement II is not the
correct explanation of statement I.

(C) Statement I is correct, but statement II is incorrect.

(D) Statement I is incorrect, but statement II is correct.

11. Arrange the following sources of credit in the most to least order to meet
the credit requirement of rural households in India and choose the

correct option : 1
I. Government II. Cooperative Banks and Societies

III. Moneylenders IV. Relatives and friends

Options :

A IILILIL IV (B) IIL I IV,I

C©) LILIILIV (D) LIILIV,II

12. Rakhi has done an economic survey of her area. The survey has revealed
that people earn their livelihood by doing different jobs. The table
prepared by Rakhi for this is given below. Study the table carefully and
answer the question that follows :

S. No. Work No. of People
1. |Farmer working in his fields 250
2. |Teachers teaching in school 10
3. |Handloom weaver working in his/her house 70
4. |Workers working in big factories 140
5. |Employees working at a hospital in the area 60
Total 530
How many people are working in the organised sector ? 1
(A) 380 (B) 140 (C) 320 (D) 210
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13. mwﬁﬁﬁéﬁqﬁtmﬁ%ﬁquwwaﬁﬁq

o o foram ST aTetT st ateferaee o forer &k o 3idrid JTTaT e 2

(A) Tt (B) =que

o

(C) qarTs (D) fedftre

TIe :  HIRGT S97 Fae giteartar aferTierat & fo7q o7 98T 13 F T W3 |
frefefad & & h-a1 Hl STferaEe 3 qefireh &reh o STl T & 2
(A) TR AT (B)  UeUEH

D

(C) U ST (D) T T

14, Tt T ot gfef o fore @@t ferepeq =t = IS -
fopell a1 o SieT forelt A foreiw 7 Scanfea el sifom aeqet oIk Samett &1 Fa To

FEATTE |
(A)  ufq =afed =
(B) Y saferd Ieqred

(C) Hohel U AT

(D) @l BT IcdTeH
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13. Look at the given picture and answer the question that follows :

|

—

. , P - o
l‘:q 423 “'}’,
R .

The work being done in the picture falls under which sector of the

economy ? 1
(A)  Primary (B)  Quaternary
(C) Tertiary (D)  Secondary

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q.N. 13.

Which of the following activities comes under the tertiary sector of the

economy ? 1
(A) Basket weaving (B) Animal husbandry
(C) Milk vending (D)  Gur making

14. Choose the correct option to fill in the blank : 1

The total value of all final goods and services produced within a country
in a particular year is called

(A)  Per Capita Income

(B)  Per Capita Production

(C)  Gross National Income

(D)  Gross Domestic Production
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15131@ “forvar wer foreprer gerehish” @ weiferd Fwferfa dforent st stearem hifsig oMK 3aes
! 73T T 9 1 I ST -
F.9 3w forva & grea faeprg
AT ] FHIF
1 Y 130
2 AR 148
3. | "ue 149
4. | uifeREa™ 150
frfafed # @ SH-91 97 W foehre e 7 3 T T § 2
(A) WA
(B) wMR
(C) AU
(D) IR

16.  Feferiaa o @ wel gafera I 1 =5 i :

TsHIfd a7 T
(A) AT & (HFER) - fm=r
(B) UERISZATE! MHide gl — T
(C) s g4 o™ N R ER
(D) 3T ifear wRae st —  Uele

17. Trfafed & @ -1 31 stiaies fafaudr it e 7 Ted T U 31 TsT gt
o of =T I T ST S Rl Ueh 30T § 2

(A)  HYF TS AR

(B) Ateeforam
(C) dfesam
(D) Raesrde
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15. Study the following table related to ‘World Human Development Index’
and answer the question that follow : 1
S. No. Country HDI Rank in the World
1 India 130
2 Myanmar 148
3. Nepal 149
4 Pakistan 150
Which one of the following countries has the lowest rank in ‘Human
Development Index’ ?
(A) India
(B) Myanmar
(C) Nepal
(D) Pakistan
16. Choose the correctly matched pair from the following : 1
Political Party State
(A) Janata Dal (Secular) —  Bihar
(B) Maharashtrawadi Gomantak Party —  Goa
(C) Dravida Munnetra Kazhagam —  Andhra Pradesh
(D)  All India Forward Bloc —  Punjab
17. Which of the following countries is an example of sharing of power
between the national and state governments to account for internal
diversity ? 1
(A)  United States of America
(B)  Australia
(C) Belgium
(D) Switzerland
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18. fwfafea & & fore wime 1 Teaer e § 8 2

(A) I TS

(B) T &=

(C)  Te-Frue sieieH

(D) Gferor i enita weT Ea

19. WY1 % &Y [ e Shifse ot gt fasheq o1 === hifse

@y I N &y II
(@I STt GI7) AT7)
a T i Ao
b THTSH i,  offeem
c.  WEwEd iii. ey e
d. foSmEmer iv. HENSE
ey :

(A)  a-ii, b-i, c-iv, d-iii
(B)  a-iii, b-iv, c-i, d-ii
(C)  a-iv, b-iii, c-ii, d-i

(D)  a-ii, b-i, c-iii, d-iv

20. 19 S feuu € | A SAfreReH (A) ST HROT (R) & | ST AT ol ufeu 31T gat

forehew =61 = gw HifSTe

YT (A) : A T GR STt o ScdTe hT ST TS & |
RO (R): ¥ T SRR Y-HTT I st o FHawia AT E |
oo :

(A (A) 3R (R) 3FT @& & 3R (R), (A) ! @&l AT 2 |

(B) (A) ¥R (R) 3HI @&l &, W (R), (A) 3T H&l =T 787 ¢ |
(C) (A", W (R) T ¢ |

(D) (A TTd 8, T (R) W&l 2 |
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18. Which one of the following organisations has its headquarter in
Brussels ? 1

(A)  United Nations Organisation
(B)  European Union
(C) Non-Alignment Movement

(D)  South Asian Association for Regional Co-operation

19. Match Column I with Column II and choose the correct option : 1
Column I Column I1
(Thermal Power Plant) (State)
a. Talcher i. Telangana
b. Ramagundam ii. Odisha
c. Bhusawal iii. Andhra Pradesh
d. Vijayawada iv. Maharashtra

Options :

(A)  a-ii, b, c-iv, d-iii
(B)  a-iii, b-iv, c-i, d-ii
(C)  a-iv, b-iii, c-ii, d-i

(D) a-ii, b-i, c-iii, d-iv

20. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option : 1

Assertion (A) : India has enormous possibilities of production of solar
energy.

Reason (R) : Most of the land area of India falls under the cold zone.

Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.
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21.

22.

23.

24.

25.

26.

27.

U o
(3Ffer g -Iwa ) (4x2=8)
29T 3 ofier ST Feier S offer wehientor shY Uk & Aveftentor € |2 3eren afed 3|
U S FTEAT VT | 2
HETYAT o foraieyut STt o forg faits sht fireht sht Taee sHifvg | 2
YT T TITeT Tt ATient sl et off e o UTet s ot STTSTTeT 3T & | &F deh
AR 3 e i qfte HIfTT | 2
(%) WA H I el o 3 qoh ATA-3ATd 3TA8TE hl [AATEAT [ohd TehI TeZaTa
ST TET YT A T TTEH & T8 2 SIREAT HITST | 2
arraT
(@) YRd & TR Al § gt 3T gedieht 3 forg T <nmt & Tseate sht Sra
T A | AT fam 2 e i | 2
LG
(GRECEERES)) (5x3=15)
Gl AT STare” | ARl sht ekt s forgeisr SHifST | 3
(%)  TSHITd Sl o A S AT T G0 shifog | 3
TUST
(@) A H TSIk el o GHel i S HIa ol 90 shifsry | 3
TR Giem o fou e o & Seater foawor it smen Fifse | 3
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SECTION B

(Very Short Answer Type Questions) (4x2=8)

21. “Globalisation is the process of rapid integration and interconnection
between countries.” Explain the statement with examples. 2
22. Explain the role of planning for judicious use of resources. 2

23. “The Constitution of India provides to all citizens the freedom to profess
any religion.” Support the statement by giving two arguments. 2

24, (a) How did reinterpretation of history become a means of creating a

sense of nationalism by the end of the 19th century in India ?
Explain. 2

OR

(b) How did symbols and icons contribute to create a feeling of

nationalism among the people in the national movement of India ?
Explain. 2

SECTION C
(Short Answer Type Questions) (6x3=15)
25. Analyse the role of women in the ‘Civil Disobedience Movement’. 3
26. (a) Describe three main functions of political parties. 3
OR

(b)  Describe three major challenges faced by the political parties in
India. 3

27. Explain the vertical distribution of power given in the Indian
Constitution. 3
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28. Tz i wer i ulfew 37 3T = fow 7w g o1 Swe i
e &t ser
T o7 # fep & aTedt & § 319 UNGR o 1o U 7Tia § T & | 98 39 THaR %
IR G T ffH % Zohs T 37T IEITd T HIEHT I STATHL AT FLd SEHL <
1 ATAS HLAT & | T8 T TRAR % TN % A1 A1 o ATl GRT T 8 qr At
U G ! Rfd 3 T Tear it § | 98 39 IS § o W@t & 3T S a6
T &Y T T AR 7, W] 39 SIS delt bt 319 B H firgh i wreddt 3w & an
T %o ot udT 81 & FSreeh 0T 3k URER T 3T 9 AU S{H % Zohe ol TaTT L]
Bt |
e =1 18 off Surr gesT, fored 3wes @ &t firgh o Saar oo we a9 o ) | 3
29. WA H USTIR G H Trerfireh &1o7eh 3t S[fHehT shl SATEAT shifoly | 3
LCLCR]
@rd-3aha a9 (4x5=20)
30. (F)  TCHT & B A fohd TR T forvel g shT T & 7T T ? AT@AT HINT | 5
7T
@)  “Forart ase s fwtor fohe s foherm a2 s Fifs | 5
31. (F) R Aderaw ¥ fafmior =T & Hew Y samen iy | 5
7T
(@) T TR TN o it siadsier S e Hifer | 5
32. (F) O fohTE T ST A H T o ThR Toh HewaqUl e & 2 faed o
T T3 1T FeffeRtor oht St iy | 2+3=5
7T
(@)  WRd % g AT H T ST o SAcfesh ST A fohd T T Hehe 30
F fear & 2 umeiiy foemma & dedl ¥ Serewun afed sumea Fhifsg | 2+3=5
33. (%) TAIohdd fohE T 3T I FEAT3lt & St & 2 favaiwor fifs | 5
ST
(@)  STEHAT SR IR T HH B H AR b YHERT T frzeivor Hifg | 5
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28. Read the story of Rinjha and answer the question that follows :

Story of Rinjha

Rinjha lived with her family in a small village at the outskirts of Diphu
in Assam. She enjoys watching her family members clearing, slashing
and burning a patch of land for cultivation. She often helps them in
irrigating the fields with water running through a bamboo canal from the
nearby spring. She loves the surroundings and wants to stay here as long
as she can, but this little girl has no idea about the declining fertility of
the soil and her family’s search for a fresh patch of land in the next
season.

Suggest any three measures to Rinjha so that the fertility of the soil of

her fields remains intact for a long time. 3
29. Explain the role of primary sector in employment generation in India. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) How did tension in the Balkan region lead to the First World
War ? Explain. 5
OR
(b)  How was the ‘British Nation’ created ? Explain. 5
31. (a) Explain the importance of manufacturing industry in the Indian
economy. 5
OR
(b)  Explain the inter-relationship between agriculture and industry. 5

32. (a) How is income an important factor in assessing the development of
a country ? Mention the classification done by the World Bank. 2+3=5
OR
(b)  How has the overuse of underground water created a serious crisis
in many parts of India ? Explain with examples in the context of
sustainable development. 2+3=5

33. (a) How is democracy better than other types of government ?

Analyse. 5
OR

(b)  Analyse the role of democracy in reducing inequality and poverty. 5
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(HE/ETA-ATITE T97) (3x4=12)

34. TRumuaEa ® ufey it e A= fou mu e o 39w difsre

AT <hT hETHT

376U U ToAT HSTQT % 1 T Feior Tl € | 3107 o U 7 Uhg S € | S0
YL 3 3 AN H 9 2, o et o fTe oo & 507 et @ | 56 e o anfiies samst
T 8-5 AT & 3N 30 3Tt i a9t § hfl oft ST ST HehT & | 3T%07 hl ASHT
o o et AT B 0 310 3UST T % T Siereht 36 ST Sl QT L A | 98
STl 3T ol HHA I A WSR T8 H T@eht sk ¥ g6 sact HAT W o & foIg
HTAGT ST =T8T 8 | sieh 37 fopart ot Telt gferem a7 o foIg qorm & it vt &1 @it o

fusaa =T IHE |

(34.1)  T8UT 3T K0T fohd BN o STl ST 2 1

(34.2) e ¥ T T ol T THE I T Ioci@ hITST | 1

(34.3) 3TV T VT [oh¥ TR ATHHRTI & ? Tohrel aT S0 ohl SATEAT ShITVT | 2
35. feumuHa i ufeu o 3ueh e fow e st o s i

%% STeTEH T AT & Toh 0T WEhi e shifd o g srgeher aftReertaat

YT AT |

39 Hee H oq: O qoh 96 AH § |

TEAT : BUTE o <IeTd TG o [Ishi o foremll 3 SHR §IAT | 3Tk o = et fHeTrert
T, Sferforare 7T FHpRrETe it ST U Sl | I Afa-Rarsit 6t st e
% T W e foam, 31 | &t fob 22 = ot ek 31 foraes st shatdt oX &t oham ST |
IE = T GTfiieh S TS o FREST HaT T RN s WOl T AT |riors
SITEAT ol Goiel oL {QAT | Sifeda ST ST o e T SAT9eh UT3sh-artt o, AT 37k
IGeh Uk T, AT reTcHeh, HelTieraT 7 dTfeheh TSI § g <@ &t o |
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SECTION E
(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

Arun’s Story

Arun supervises the work of one farm labourer. Arun has seven acres of
land. He is one of the few persons in Sonpur to receive bank loan for
cultivation. The interest rate on the loan is 8-5 per cent per annum, and
can be repaid anytime in the next three years. Arun plans to repay the
loan after harvest by selling a part of the crop. He then intends to store
the rest of the potatoes in a cold storage and apply for a fresh loan from
the bank against the cold storage receipt. The bank offers this facility to
farmers who have taken crop loan from them.

(34.1) Under which source does Arun’s loan come ? 1

(34.2) Mention one important term of credit for taking a loan from the
bank. 1

(34.3) How is Arun’s loan beneficial ? Explain any two reasons. 2

35. Read the given source and answer the questions that follow :

Print Culture and the French Revolution

Many historians have argued that print culture created the conditions
within which French Revolution occurred.

Some arguments have been usually put forward in this context.

First : print popularised the ideas of the Enlightenment thinkers.
Collectively, their writings provided a critical commentary on tradition,
superstition and despotism. They argued for the rule of reason rather than
custom, and demanded that everything be judged through the application
of reason and rationality. They attacked the sacred authority of the
Church and the despotic power of the state, thus eroding the legitimacy of
a social order based on tradition. The writings of Voltaire and Rousseau
were read widely; and those who read these books saw the world through
new eyes, eyes that were questioning, critical and rational.
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T : BUTE  ATe-feaTe-wiTe hl Tt Weapld bl 5 fem | o gu oo, Sl ik
WG W S SAT o sitel foram-fomet g3 3R 37k qHcisd o e &
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g e off | 39 T S "SI gﬁql Y g1 Shifel o T forem s gorra
AT

(85.1) JHIET o fidehl o o T HTST T AT TTe ST 2
(35.2) SHIE H HEUT HEHcr = & i foher bt srwrferat et 2
(35.3) ST EEEp(d - W19 H forw TepT wrwTSten shifd H e fea 2

36. fRuuEd & ufew it 3ges A= fou 7w g o 39w difsre
ORA # farrgiertor

forchetertur bt sTed gal Efara § o Tfiene shl 78 | 36eh e © T 31T I &
T O HAT o TIehaIentor i s hIRII g3 & | ¥ TSAT 7 T1ie o TaX 98 AT g=merdt
I IEY T TTRATIARTS ohT TATYAT 6T T8 off | X 378 T TahTll oh HreT =07 & @
TRIT T | 37 SR S o Fore, et & @ gma oft 2 e ST o | $fok e
JAUT hIS HATRIRR T T GET | 39 Th T9TE ST H HxT hT fIoheieur 919 A 1
gATAT|

TEdfarens faehgIoRtur st fam § Uer oIS shed 1992 | I3MT =T | Gide™ & dsnes
Foh TR oIeh ITHT STTEAT o T8 e TL ohl SATQT ITdRITedT ST THTeT ST T |

(36.1) wRe @fererm # w1 forehslientor fopa wadl W feram mr g 2
(36.2) THEATS! o GHTHT H T TG 6T WIfHeAT T T HIfT |

(36.3) “TATT TLHTU sh! TATYT TI-IMTET o ARk THgId ohl ITeToIoh ST T
G0 3T<3T qIehT ® |7 39 h ohY I ShifSie |
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Second : print created a new culture of dialogue and debate. All values,
norms and institutions were re-evaluated and discussed by a public that
had become aware of the power of reason, and recognised the need to
question existing ideas and beliefs. Within this public culture, new ideas
of social revolution came into being.

(35.1) What impact did the ideas of Enlightenment thinkers have on

society ?
(35.2) How did print culture affect religion in France ?

(35.3) How did print culture contribute to the social revolution in France ?

36. Read the given source and answer the questions that follow :
Decentralisation in India

The need for decentralisation was recognised in our Constitution.
Since then, there have been several attempts to decentralise power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of state governments. Elections to these local governments
were not held regularly. Local governments did not have any powers or
resources of their own. Thus, there was very little decentralisation in

effective terms.

A major step towards decentralisation was taken in 1992. The
Constitution was amended to make the third-tier of democracy more

powerful and effective.

(36.1) At how many levels has decentralisation of power been done in

the Indian Constitution ?
(36.2) Explain the role of local self-government in solving problems.

(36.3) “Local government is the best way to realise one important
principle of democracy, namely local self-government.” Explain

the statement.
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e : FHHIIREd 397 Facl grEaTiard aqerTierat & fo7q 97 98T 37 (@) & A R E |

@) ol a7 aet & s s 3x1=3
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(i) T ScaTed H ST TS T T fAra |
(i) 3 T o1 A fARaT et It qawr H o) st S e |
(iv) 39 T o7 9 g STt Sffeem 4 s qys o Lo 2 |
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress
was held in December 1927.

B. The place where Jallianwala Bagh incident took place.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in December 1927.

(i1) Name the place where Jallianwala Bagh incident took
place. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3

(1) Eastern terminal station of the East-West Corridor
(i1))  Leading state in coffee production
(iii)) Nuclear power plant located in Uttar Pradesh
(iv) Major sea port located in Odisha
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (b).
(b) Attempt any three questions. 3x1=3

(1) Name the eastern terminal station of the East-West
Corridor.

(i1)  Name the leading state in coffee production.

(iii) Name the place where nuclear power plant is located in
Uttar Pradesh.

(iv) Name the place where a major sea port is located in Odisha.
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